[ Efficiency vs vertpos |
~ 0.05

9.045
4
20.04
(8]
$.035
[
£0.03
0.025
0.02
0.015
0.01&
0.005

0
15

.................................................

.................................................

...........................................

..........................................

Ratio
=

LR AR AN AL N RRRE RRN LR RRRRN RRRRN RARRN LARRE RRRLN LRRR

0.5

[EnN
2
N
=
N
[y

Efficiend —— DQM:mkFlt TTbarPU-ncp

—— DOM_mkFit_TTbarPU-newTr4
~ 0.021

e
e s
L e
i { :

0.01F - e l b

0.008F -l
0.008f -5+
0.004F -+
0.002f

q:.'.'..'..'.i,.'..'.'..' ,;,1.

e_E;cmacy_dgs \_@rt

Ratio
—
—
=
—q__(f___
—i=1

-30 -20 -10 O 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.05
>
00.045
IS
7 0.04
$.035
z
c0.03
[}
8.025
(0]
0.02
0.015
0.01

0.005

S L |
Bl f+1+*‘T+TTT"1; """ -

Ratio

20 -5 =005 0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


